This Pricing Guide No. 1 includes the local exchange telecommunications services offered to Customers within the State of Maryland that are de-tariffed and/or unregulated by the State of Maryland Public Service Commission.

The general terms and conditions applicable to the services listed in this Pricing Guide No. 1 are contained in Maryland Tariff No. 1 on file with the State of Maryland Public Service Commission.

Pricing Guide

Facilities-Based and Resold Local Exchange And Interexchange

Telecommunications Services Furnished by

Wide Voice, LLC

Between Points Within the State of Maryland

Effective Date: October 1, 2015

PRICING GUIDE FORMAT

- **A. Page Numbering** Page numbers appear in the upper right corner of the page. Pages are numbered sequentially. However, new pages are occasionally added to the pricing guide. When a new page is added between pages already in effect, a decimal is added. For example, a new page added between Page 14 and 15 would be 14.1.
- **B.** Page Revision Numbers Revision numbers also appear in the upper right corner of each page. These numbers are used to determine the most current page version on file with the Commission. For example, the 4th revised Page 14 cancels the 3rd revised Page 14.
- **C. Paragraph Numbering Sequence** There are various levels of paragraph coding. Each level of coding is subservient to its next higher level:

2 2.1 2.1.1 2.1.1.1

D. Check Sheets - The Check Sheet lists the pages contained in the pricing guide, with a cross-reference to the current revision number. When new pages are added, the Check Sheet is changed to reflect the revision. An asterisk designates all revisions made in a given filing (*). There will be no other symbols used on this page if these are the only changes made to it (i.e., the format, etc. remain the same, just revised revision levels on some pages.) The pricing guide user should refer to the latest Check Sheet to find out if a particular page is the most current on file with the Commission.

Effective Date: October 1, 2015

CHECK SHEET

Pages of this pricing guide, as indicated below, are effective as of the date shown at the bottom of the respective pages. Original and revised pages, as named below, comprise all changes from the original pricing guide and are currently in effect as of the date on the bottom of this page.

PAGE	REVISION		PAGE	REVISION	PAGE	REVISION
1	Original					
2	Original					
3	1 st Revised	*				
4	Original					
5	Original					
6	1 st Revised	*				
7	Original	*				
8	Original	*				
9	Original	*				
10	Original	*				
11	Original	*				
12	Original	*				

Effective Date: February 1, 2017

TABLE OF CONTENTS

Pri	icing Guide Format	2
	neck Sheet	
	ble of Contents	
1	General	5
	1.1 Explanation of Symbols	
	1.2 Application of the Pricing Guide	5
	Inbound Calling Service	

SECTION 1 - GENERAL

1.1 Explanation of Symbols

- (C) To signify a changed regulation
- **(D)** To signify a discontinued rate or regulation
- (I) To signify an increase in a rate
- (M) To signify text or rates relocated without change
 (N) To signify a new rate or regulation or other text
- (R) To signify a reduction in a rate(S) To signify reissued regulations
- (T) To signify a change in text but no change in rate
- (**Z**) To signify a correction

1.2 Application of the Pricing Guide

- **1.2.1** This pricing guide governs the Carrier's services that originate and terminate in Maryland. Specific services and rates are described elsewhere in this pricing guide.
- **1.2.2** The Company's services are available to Business customers.
- **1.2.3** The Company's service territory is statewide with local calling areas consistent with Verizon Maryland's tariff on file with the Commission, as amended from time to time.

Effective Date: October 1, 2015

SECTION 2 - LOCAL EXCHANGE SERVICES AND RATES

2.1 Inbound Calling Service

Inbound Calling Service ("ICS") is a Direct Inward Dial ("DID") voice grade equivalent ("VGE") service used to connect the Customer's equipment to the public switched telephone network for the transmission of voice, data, or video traffic. ICS allows Business End Users to designate an area in the Company's End Office as the Business End User's designated Premises ("Designated Premises"), subject to space availability. DID numbers and VGEs provided with ICS are subject to availability of DID numbers and the capacity of transmission facilities provisioned, respectively.

When subscribing to ICS, Business End Users may select either ICS Rate Plan 1 or ICS Rate Plan 2. The specific requirements, monthly recurring charges ("MRCs"), and nonrecurring charges ("NRCs") for each of these plans are provided below.

2.1.1 ICS Rate Plan 1

ICS Rate Plan 1 is only available to Business End Users with more than 2 million MOUs over DID facilities per billing period per account and requires a minimum of 200 VGEs.

With ICS Rate Plan 1, Company provided connections between the Company's End Office and a Business End User's Designated Premises are provisioned using scalable and burstable transmission facilities that are designed to accommodate a significant and fluctuating number of simultaneous DID calls to a Business End User during a billing period.

In provisioning ICS Rate Plan 1, the Company will endeavor to provide a sufficient quantity of: (i) DID numbers to the Business End User to accommodate peak inbound traffic the Business End User expects the Company will deliver to the Business End User during a billing period, and (ii) DID VGEs to accommodate peak inbound traffic the Business End User expects the Company will deliver to the Business End User during a billing period.

(C) | |

(C)

2.1 Inbound Calling Service, (Cont'd.)

(N)

2.1.1 ICS Rate Plan 1, (Cont'd.)

MRCs include the following:

- (a) <u>VGE Transmission Facility</u> charge is assessed on a per VGE basis (the total VGEs equals the highest number of simultaneous call paths in use by the Business End User at any one point in time during the billing period ("Billing Period Peak Usage"));
- (b) <u>VGE Port</u> charge is assessed on a per VGE basis based on the VGEs provided (the total VGEs equals the Billing Period Peak Usage); and
- (c) DID Telephone Number charge per DID telephone number.

VGE Transmission Facility charge, per VGE:

- Business End User's Designated Premises is located one (1) mile or less from the Company's End Office \$0.50
- Business End User's Designated Premises is located more than one (1) mile from the Company's End Office ICB

VGE Port charges, per VGE:

200-672 VGEs	\$3.75
673-2016 VGEs	\$3.15
2017-3360 VGEs	\$2.55
3361-5476 VGEs	\$1.95
5477+ VGEs	\$1.35

<u>DID Telephone Number</u> charge, per DID telephone number: \$0.10

NRCs include the following:

(a) <u>Number Port-In</u> charge is assessed when a Business End User wants to port-in a particular telephone number for use with ICS Rate Plan 1.

Number Port-In charge, per telephone number ported in:

1-49 numbers	\$4.00
50-199 numbers	\$1.00
200+ numbers	\$0.50

| (N)

2.1 Inbound Calling Service, (Cont'd.)

2.1.1 ICS Rate Plan 1, (Cont'd.)

ICS Rate Plan 1 – Illustrative Examples (MRCs only)

Illustrative examples of the application of ICS Rate Plan 1 MRCs are provided below.

<u>Month 1:</u> If a Business End User (which in this example is called "XYZ Corp."), whose Premises is located one (1) mile or less from the Company's End Office, orders ICS Rate Plan 1 and had a Billing Period Peak Usage of 1,000 simultaneous call paths and utilized 100 DID telephone numbers during the Month 1 billing period, XYZ Corp. would be billed as follows for Month 1:

	Quantity	Rate	Billed to XYZ Corp.
VGE Transmission Facility	1,000	\$0.50	\$500.00
VGE Port	1,000	\$3.15	\$3,150.00
DID Telephone Number	100	\$0.10	\$10.00
End User Access Service ("EUAS") (see Company's FCC Tariff)	1,000	\$0.75	\$750.00
Federal Universal Service Fee (see Company's FCC Tariff; % varies quarterly) (*)	N/A	17%	\$127.50
Total Tariffed Charges			\$4,537.50

(*) Other applicable fees, surcharges, taxes, etc. may also apply.

(N)

2.1 Inbound Calling Service, (Cont'd.)

2.1.1 ICS Rate Plan 1, (Cont'd.)

ICS Rate Plan 1 – Illustrative Examples (MRCs only), (Cont'd.)

<u>Month 2:</u> If XYZ Corp. in Month 2 had a Billing Period Peak Usage of 1,200 simultaneous call paths and utilized 110 DID telephone numbers during the Month 2 billing period, XYZ Corp. would be billed as follows for Month 2:

	Quantity	Rate	Billed to XYZ Corp.
VGE Transmission Facility	1,200	\$0.50	\$600.00
VGE Port	1,200	\$3.15	\$3,780.00
DID Telephone Number	110	\$0.10	\$11.00
EUAS (see Company's FCC Tariff)	1,200	\$0.75	\$900.00
Federal Universal Service Fee (Federal Access Tariff; % varies quarterly) (*)	N/A	17%	\$153.00
Total Tariffed Charges			\$5,444.00

Effective Date: February 1, 2017

^(*) Other applicable fees, surcharges, taxes, etc. may also apply.

2.1 Inbound Calling Service, (Cont'd.)

2.1.1 ICS Rate Plan 1, (Cont'd.)

ICS Rate Plan 1 – Illustrative Examples (MRCs only), (Cont'd.)

<u>Month 3</u>: If XYZ Corp. in Month 3 had a Billing Period Peak Usage of 800 simultaneous call paths and utilized 110 DID telephone numbers during the Month 3 billing period, XYZ Corp. would be billed as follows for Month 3:

	Quantity	Rate	Billed to XYZ Corp.
VGE Transmission Facility	800	\$0.50	\$400.00
VGE Port	800	\$3.15	\$2,520.00
DID Telephone Number	110	\$0.10	\$11.00
EUAS (see Company's FCC Tariff)	800	\$0.75	\$600.00
Federal Universal Service Fee (see Company's FCC Tariff; % varies quarterly) (*)	N/A	17%	\$102.00
Total Tariffed Charges			\$3,633.00

(*) Other applicable fees, surcharges, taxes, etc. may also apply.

(I****

(N)

2.1 Inbound Calling Service, (Cont'd.)

(N)

2.1.2 ICS Rate Plan 2

ICS Rate Plan 2 requires that a Business End User specifically order the total number of ISDN PRI (or its functional equivalent) arrangements and DID telephone numbers. ICS Rate Plan 2 requires a minimum of one (1) PRI arrangement. Each PRI arrangement allows up to 23 simultaneous calls. The Customer is solely responsible for requesting a sufficient number of PRI arrangements and DIDs to accommodate the Customer's call volumes. If the Customer wishes to receive a report on PRI utilization, or wishes to later increase or decrease the number of PRIs or DIDs, the Customer must contact the company and submit a request for such report or service modification. The Company will then endeavor to implement such requested service modifications within 20 business days after it receives the request.

MRCs include the following:

- (a) <u>ISDN PRI (or its functional equivalent)</u> charge is assessed per PRI arrangement;
- (b) <u>DID Telephone Number</u> charge is assessed per DID telephone number.

ISDN PRI (or its functional equivalent) charge, per PRI arrangement:

- Business End User's Designated Premises is located one (1) mile or less from the Company's End Office

1-4 PRIs	\$140.00
5-8 PRIs	\$120.00
9+ PRIs	\$110.00

Business End User's Designated Premises is located more than one (1) mile from the Company's End Office

1-4 PRIs	ICB
5-8 PRIs	ICB
9+ PRIs	ICB

DID Telephone Number charge,

Per DID telephone number:	\$0.25
---------------------------	--------

Per DID telephone number (when ordering 20

or More DID Numbers): \$0.10

25 | | 10 (**N**)

2.1 Inbound Calling Service, (Cont'd.)

(N)

2.1.2 ICS Rate Plan 2, (Cont'd.)

NRCs include the following:

- (a) <u>ISDN PRI (or its functional equivalent) Installation</u> charge is assessed per PRI arrangement.
- (b) <u>Number Port-In</u> charge is assessed when a Business End User wants to port-in a particular telephone number for use with ICS Rate Plan 2.

ISDN PRI (or its functional equivalent) Installation charge, per PRI: \$100.00

Number Port-in charge, per number:

1-49 numbers	\$4.00
50-199 numbers	\$1.00
200+ numbers	\$0.50

ICS Rate Plan 2 – Illustrative Example (MRCs only)

An illustrative example of the application of ICS Rate Plan 2 MRCs is provided below.

If a Business End User, whose Premises is located one (1) mile or less from the Company's End Office, orders 50 PRIs and 100 DID with ICS Rate Plan 2, the Business End User would be billed as follows for the billing period:

	Quantity	Rate	Billed to Business End User
ISDN PRI (or its functional		0110.00	47.700.00
equivalent)	50	\$110.00	\$5,500.00
DID Telephone Number	100	\$0.10	\$10.00
EUAS (see Company's FCC			
Tariff)	50	\$20.00	\$1,000.00
Federal Universal Service Fee (see Company's FCC Tariff; % varies quarterly) (*)	N/A	17%	\$170.00
Total Tariffed Charges			\$ 6,680.00

(*) Other applicable fees, surcharges, taxes, etc. may also apply.

(N)